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Question 1

Net Profit Ratio Signifies-

Question 2

Working Capital Turnover measures the relationship of Working Capital with-

Question 3

Investment can be defined-

Question 4

The concept of Financial management is-

Question 5

Financial Planning deals with-

Question 6

What is the primary goal of financial management?

Question 7

A firm has Capital of Rs. 10,00,000; Sales of Rs. 5,00,000; Gross Profit of Rs. 2,00,000 and Expenses of Rs. 1,00,000. What is the Net Profit
Ratio?

Question 8

Capital Budgeting is a part of-

Question 9

The market value of a share is responsible for-

Question 10

The capital budget is associated with-

Question 11

Cost of Capital refers to-

Question 12

CAPM stands for-



Question 13

What does financial leverage measure?

Question 14

ABC Ltd. has a Current Ratio of 1.5: T and Net Current Assets of Rs. 5,00,000. What are the Current Assets?

Question 15

Operating leverage helps in analysis of-

Question 16

Financial procedures are determined by-

Question 17

Capital structure shows-

Question 18

Wealth maximisation depends on-

Question 19

Investment decision involves-

Question 20

Working capital requirements are low when an organisation has-

Question 21

Which of the following factors affect financial decision?

Question 22

Which of the following is not a feature of a financial plan?

Question 23

is the decision related to composition of capital structure & also depends upon ability of the business to generate cash.

Question 24

Which one of the following is related to planning, organising, directing and controlling of financial activities?

Question 25

is concerned with optimum procurement as well as usage of finance.



Question 26

represents investment in current assets required for day-to-day operations of the business.

Question 27

involves increasing the proportion of debt and preference shares in total capital.

Question 28

is the time span between acquisition of goods and realisation of sale proceeds.

Question 29

If the rate of return on investment for a company is 16%, a situation of unfavourable financial leverage will be said to arise when the rate of interest payable on

debt capital is-

Question 30

The total capital of Uranium Private Limited is Rs.50 lacs. The company has earned a profit of Rs.10 lacs during the current financial year. Its return on

investment (ROI) for the present year is-



